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1 |ERETERIS 794 | 933 [1,727| 368 | 401 | 769 147 183 330 515 584 | 1,099 || 64.86 | 62.59 | 63.64
2 |BxErav~roavk—n3nd (1,126 | 1,276 (2402 | 582 | 645 |1,.227 148 189 337 730 834 | 1,564 | 64.83 | 65.36 [ 65.11
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4 |BHOZI2=TFT4/\IR 32| 21| 53| 17| 10| 27 5 3 8 22 13 35| 68.75 | 61.90 | 66.04
5 |MRERZREE 71 72| 143 35| 40| 75 9 3 12 44 43 87| 61.97 | 59.72 | 60.84
6 |HAIEREE2— 199 | 188 | 387 85| 96| 181 21 10 31 106 106 | 212 5327 | 56.38 | 54.78
7 |HEIFTZ2a=FNOR|| 47| 43| 90| 23| 32| 55 3 1 4 26 33 59 || 55.32 | 76.74 | 6556
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10 |ErNER Y 2— 319 | 327 646 142 126 | 268 26 31 57 168 157 | 325| 52.66 | 48.01 | 50.31
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14 |ABBEMBEREL 5| 42| 35| 77 24| 21| 45 4 5 9 28 26 54| 66.67 | 74.29 | 70.13
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18 |ExRAEESEL 2| 47| 40| 87| 28| 22 50 6 7 13 34 29 63 || 72.34 [ 72.50 | 72.41
19 |HRAEHBEREL 5—| 117 112 229 59| 59 118 11 10 21 70 69| 139 59.83| 61.61 | 60.70
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